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(G~ 3)% s+ G- 37 - GHOMx 4G5 -

(5= 375 +5—4 = GG -G 3P

G- CPx =GP - (3% 3+ G+ -

@+ -3+5-7 - G-GP*3-G+3P=
(§+%)2—§(é+§)= (4+%)2+_+— 4 =

www.snowmath.com


https://www.snowmath.com

é a SR U NE (A5 5)

44 H #A: DA E
1.1 1 3, 1 2 3, 1 3 295 7
- — —+(=—=)Y=— —+(= -+ (=— =)= —=2—
(( y 2) 6 (2 4) 48 (3 (2))X6 (2 ) 144 144
1 1 17 1 1 1 1 3 3 223
— Y - 4= =4 (=) x = — (2 DY =
S 2) 2 2 4 (6 (2))X2 (4 5) 1200
1 2, 1 1, 1.1 1 1, 277
— — (= — =(——— Y+ )X =+ (=+-=-)Y=—
(2 (3))>< 5 ( ) ( 225) ((4) 2)>< 1 (3 4) 576
3 1 1 1849 49 301 2 2 3 347
4+ Y ——+--32= =12 -G -G+ =(—
( 5) 3 2 150 150 (2 (2))X3 (3 5) (450)
2 3., 21 2 4021 421 1 3 01 437 5
C+2P-Z(=+3)= =4 4+ Y+ +-x42="=04"
3 20 56 5 900 900 372 4 18 18
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